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'(�	 I�� �����  ���0 � D�
 w�  �� ��4 
�!�� 4�89
� :;�9�  �$;�� �� �$)%8? � K /��%� �66�N �$;��  �89
� :;�9� �  
�

<$�=� �� 6�.� � �� �7� 5�
! D�
 w�  	��'3�$) ��  ������ I�� I
�$$y� �� ,�   ���
��
� �����&�� ���� ���$;��  ���$$y� /��7- �v��9 �� 
� ������ ���89
� :;���9� 

��+�
 �� �$$y� e�_�0� ��� 6��.  
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) %
�&) B#)2,C�- .( ���C� ��� �� �� ����� %�((������ E�) J	� �� ! �� K  E�) � F���� $� E�
��L

����� �� K $
� M��  

  
,�L�� :kH6� 2��@3 	��  

�;��O� K%8?  ) ������ <=� �� ,�L����� 3(   D
 ����? 5��
      I��� ��(
 ,�� /�0

�����  ���� (2���) 2�
1L
 ��4  4�$$y� 5�
 �� �&�� 1$  D�
 w�   � ���� ��
�9 �$$y�

����3 5�
 p�#� �� 4 ,��  5��
    ,�� `H�0 Q��D
  �
 ��0D     � ,��L�� 2���� ��8� 
��3 e
�0D
	 �E��4 �� 2�
1L
 �E�� 	������ ���9 �
��   w��  ,� /�
� ��C� 
 ���� 4����

e���0 ���9 �
��
 Ir�"��4  5�
 .���� (2���) 2�
1L
/$O>�    	
��� 
� ,�6$�D
2�
1L
 >�� (2���)K  2�
1�L
 � Ir�"��  ���)�(2    �
���
 D
 I
����A ��
��L 

9 ��
�.��� I
���A B��] D
)  ��
� ����� ,� ,� 	D�
  ���  �6��(  ���   �� 
�� ̀ H�0 
2��� ����� I�� (2�
1L
)  �����.  

 4/0
 �6��(����� ,�� �) 	���� 4 ���L� 	������ 	��+�   ��E�� 	
���   *��+ 

Ir��H� �
��
 ��4  ��!   2$�� � ,���
� 	�$E���o �$) D
  2$�3  ̀ �-��    ����L 2�
1�L


 ���� �� 	��"�#
��� /0
i 4,+$� ��     ,�� �
���
 ���� �$W � ����  I
���A   I���
� /��! � � 
��
 Ir�"�� ���9 e���0 w�  2��� ���� � ,�L�( �
�# �$),�   k�H�

4�� �$;�� 2���   ����� �D��? 5�
 �� �89
� :;�9�    5�
��� .���
  
��?4  ����H    2�% 
/0�$0 	�� �89
�  
� ���n�_�
	
�� ,8��%� ����� I
�)
 �� 
���
 	��  ��  ���� �� ��

��
 4/L�( ���� ���$3 � n�_�
 ,� /�
� ,-�� D�0	   Z����  ,� ���$�0� �� /0�$0 Q�
�-��9 � �6�D�$  4�� �'( I��       ,�� ���$��0� ���C� 
 ����H  � /�0
 �"_�� ���D

./�
� �D�? 5�
 �� � � Z���   

�� ��'() <-�

"*�+�, -�*�)
42'�2 �	+2�

<@�/(� �A'


42'�2 D2 <2���#
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) %
�&) B#)3	����� EG�
�+ ���  N
��� M�� 	���?� ,C�- .(  

  
,�L�� :kH6� 2��@3 	��  

2-3. 29: %�3-. ��;< =
>% �9
? %
!&�45� @��7� " 
�&A "B  

 <=�) �����4(  2��@3 ����- � /;�? �
���  ��  ���A 	�E;
��D ,0 D
 ,�� D
 I

�
��
 ,� I
��
� 4�
��
4 ,-��� *�C  � ���� 	�6�     ���� <$=��� /�0
   
� ���  ������ 

�� 6��. 5�
��  ��0
� ����,� 5�
 �>��p � ,-��D
 Q��� ,� /�
  5��
 D�  ����E;
� D

 B��]����� I�� �$y��  JH��� �E��=� ,� ����� .� 
  

) %
�&) B#)4@��1" F���9 � ���- 
���&� .(  

  
6�:kH ,�L�� 2��@3 	��  

<-�
�� ��'()

D�2 ?',

-�'+ =��>� ?',

�,2'�2 <@�/(�

<@�/(� �A'


42'�2 D2 <2���#
+

+

+

+

-

B2

<@�/(� �A'

.2'; �,��6 �A�B)

�,2'�2 <@�/(�
-�'+ =��>� ?',

�,2'�2 <@�/(�

42'�2 D2 <2���#

.2'; �A�B)

�)2��2� <@�/(�-�'+ =��>� ?',

�6��+ <@�/(�

�� E+2�'� D2')

42'�2 �; <2��2�

E*�� �6��;

�)��*�� �2'9
D2 ���, E*�� .��-�F��

��B03� <��*��

�0>, .��-�F��

D�2 ?',

E>, E��1

-�*�) G�2�
 -�F�� "*�+

���H I��+ D2
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< >�� ��'() <-�

< >�� ��'() <-�

C���1

< >D�2 ?',

< >C���1

42'�2 �	+2� "*�+�, -�*�)

.�2JK ����'�
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�; �0>, -�F�� E83,
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�; ���N
2 <2��80
2

�#�/+ :L;

<�; ���N
2 <2��80
2

>�#�/+ :L;
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-�'+ =��>� ?',
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< >42'�2 D2 <2���#

� E>, <2���# �
���

4F <�B0��

E*�� .�� �
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<<@�/(� .2'; �A�B)
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< ><@�/(� �A'
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4. C�.D� �5	
� 
! !"#$ %  

 ,� /0
 *Dr �+6�
 �����D� ����  	
�� Z���  ��H��
 5$$O� ,��  /�0�  �����  D
 	��E;
 
,$H� D�0	 ��� �� D
 ��6$�]
 � �� ��� *�+ 
.  �6��(/0
4 $;�
 <?
��K ���D� 5�
  ��

 �� ,� ����N� �
� ���D�  �����6 �� ,%8? ���D�1  ���O�
 ���D� �2  /�0
   B���] D
 ��� 
*�  �
1L
 *�+ 
 /0
 ��� �� d$>�� D
 ,� �� ��A �� �C   �� .�$6� K�
�
 2�_� 5�
4 

���D� ��
� �E�� 	  �
��� �� I�$F1-�� $�
�9 z$A�� ����� �.  

1 -4.  �
5	� B��=E
�F�  

���D� ��+� ���L�4 ��=�
 &��%�K  Z��� ,� /0� ����  D
	�E;
 ,$H� 	D�0   � ����
I
�6�&�  ��-�� 
��� ��
�L 6� .� ,�M �6o  �&��%�,   *��+ 
 	���  4����   �v��9


� �� 	���D=�E�� �6��� ,��
�  � � �� j�H��%� 7����� 
� �����  �66�  D
 ���6$�]
 4
 ����0������=8�� 	���E;
 2��@��3 ���� 2�
1��L
 ������2��_� 5���
 �� .4  Z����� 

,� /0�  �����   ����D� 5��
 D
    ��$;�� ��$y�� �� 	
���  :;��9�     �
1�$� � ��89
�
I
���A 4D�� ��N 2��@3 �0������� 4��
� ���  ��  ./0
 ����Z ,� /0�   �����

5�
 �E �$� I��v]
 ,� /0
 /H) �� N��-��  ��K6$�$3 ����  �� ���  ��$y��4  �� �
 Z��� ,� /0� ���� ,$H� D
 D�0	  D��� ��N   � ���D1398-1375   7����� �� �� D
� 
	��$3 ���� � �� �$,+4 �� �
��  	�E;
 4/�(,$H� �0	D  4����    	����$y�� ����L�
�������,$H� ���9 ,� 
� �0  	D�0����  ./0
�6��( /0
4 I��v]
   ��� JH���

/H) I��v]
 D
 �89
� :;�9�  �$;�� �$y��  ���  	1���� Q �� ��0� /��0 ��
 � �
���
 ��v0
 	��7�-    ����A ��$y�� I���v]

 I���v]
 D
 I   �� ���-��

 �
�_�0
 �
��
 ���� ��0� /��0����
���  �� ./0
 ��	 4��D  �����%� Current 
 �� ��� ��
� 2���  ��� | � �� ,� � 
 ��  �E ��$�   ��O#
� ����L�4   �����%� �GDP  �

Export  �� �# | � �� ,���� ��
� 2���  1� � 
 ��  �E ��$�   ,$H�� ����L�  	D��0   ����
 �0������� 	���$y�� 	
���6�&�.  

  

                                                                 

1. Loop Test 

2. Dimension Test 
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���&� %
�&) )1.(  P����,� ���  %�+Q,��) $� %��� � �$�� ��� 	� �� !�� �� ����� ���� 	?���  

  
:kH6� ,�L�� 2��@3 	��  

 
���&�) %
�&)2.(  P����,� ��� %�+Q ,��) $� %��� � �$�� ��E�
��L ���� 	?��� �  

  
kH6� :,�L�� 2��@3 	��  

2-4 .=E��B 
D�G;> ��B2H 
IJ  

��1L
 �� �E;
 ���L� �$;��D�� ,$H� Z���  D
 ��6$�]
 	
�� 	D�0   	����$y�� 	�P9 4���

�� 1$  	�$8� e�� f�0  ,H0��� ��D 	����.  

1. �?
<# �P9	 '+�I
��1 : f�0
�� :9�� 5�
4 ,o�� �
1$�  I�����   5$��
��
� �� 	,$H� � �O#
� D�0	 ���  4���� ������ ���$�   �
���   ,$H�� Z����  ,��  D��0	 

e�� 5�
 �� .��� �����
4  �P9 �
1$��� ,H0��� ��D 
���L f�0
�� ��.�  

)1(  RMSPE = �1θ
�y
��� − y
���y
��� ��
���

� ∗ 100 
� � 
���L4r�� ����� �E �$� � Z��� ,$H   4��E;
 �$y�� 	D�0�����  ����   N��6�� ��
�   	���

���O#
�4  �θ �� � ��6�N �O��
 �����I
 
/0 .��5���
 
�0f4 ,o�� �
1��$�  <#
���?
�P9 I
��'+� ,� ��A Q��1  �� ����4 �P9 ���� ��� ��
�9  45���0
)2000(.  

                                                                 

1. Root Mean Square Percent Error (RMSPE) 

GDP
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2. ���0�6��� ,����� ����	 e�� :���P9  ������%� �
���� 
 2+6��0 	
���� ���E��
,$H� 	D�0 ��
� D
 ��� H0��� 4�O#
� 	���� K  ���1       ���D 
����L f��0
�� ,�� /�0


�� ,H0��� ��.�  

)2(  � = � 1!∑ (����� − ����� )%���1!∑ (����� )�%��� + 1!∑ (����� )�%���  

3. H0���K ,���  /$��
 ,� ,-�� �� :�P9 	��2$3 �� �P9   ��P9 k��6� /9�6� 4�6$�
	
�� �� 2���4 �� � ��$&� �E;
 Z���  ,� �����
 2�
1L
 �� � 
���,��� .���� �) ��	 

�� 
� �P9 �
�� �0� ,0 ��K ��D ,%H] �6�	 ���:  
1. �P9	  ��D :�6H�� ,� �-��9 ��	 
�E; ��
� �� �� _60$   5��
 4����� ,��
�  /

�� ��+�
 �P9 0 	�P9 ,� ���Q$����&$ �� ��$��  ���i  
2. 5�
 :�
�� 
 	�P9 �P9  ��D� �� w� ��� � ���
� ,� ��	 ��
�  �O#
� 	��
,$H� � D�0	 ��� ���D I���� �� ��	 ��� .�6��� ,��
�K    /�0
 5�=�� 1$  �P9 5�


���� Q$����&$0�$W �� Q$����&$0i  
3. � ���
��� 	��
���  	�P9  :��  ��� w� � ���D �P9 5�
   ,�� ����  Z����    � ��E;


��
� �� ,��
�  �E�&H�� �� �� �6��� � ,� lvPA
 �� ��$��  Q$����&$0�$W 	�P9 .���  
� �/;�? �$7,62��� 4  �
1$� �P9	 Q$����&$0 0�$W �$ �����&$Q4  ,��  	��6O� 

 ��0����=8�� �E;
	 ,$H� 	D�0   ./�0
 ���  4/�0
 ��6��(     4��6H� 	��P9 p���+�
�
�� 
4 � ���
��� 	��
���  �  ��
�� ���� ��1  45���0
) ����2000 H�0��� 	
�� .(K 

,���  
���L D
 �P9 	����D �� �����0
 ��.�  
)3(  �' +�� +�( = 1 
)4(  �' = (�)s − �)a)�,1! ∑ (����� − ����� )%��� �- 
)5( �� = (./. − ./0)�,1! ∑ (����� − ����� )%��� �- 
)6( �( = �∗(��1)∗(232∗234),56∑ (789:; <789:= )6:>5 ?-  
)7(  

@(�)s − �)a)� + (./. − ./0)� + A2 ∗ (1 + C) ∗ (./. ∗ ./0)DE,1! ∑ (����� − ����� )%��� �- = 1 

                                                                 

1. U-Theil’s (UT) 
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 I��H��)s−�)a ,$H� I��v]
 J0��� ��$� <>��� �E �$� 	D�0  ����    I���v]
 J�0��� �
 �O#
�/0
J�
�� �� . r�� »f
 	� f
1«  �»f
 	� 	
2« ,� ���$  �
��� 
 �E ��$� `   ���$O�

��
� ,$H� 	�� 	D�0  � �O#
� � ���»��«    ��
� �� 5��
 ���$� �E�&H�� `��> 1$  /�0
 .
 Z��� ,� /0� ���� ���D� D
 H0��� 	��K  
��- �� �P9) �����2( )�� f��0
   	����$y��

0������� 	�$8�� ,$H� 5�
 �� D�0(	   ���� ��
� 2����     ,�o�� ./�0
 �?
<# �P9	 
'+��1  ��A ,� I
���Q  ����� ��4    5$�� 	����� 	��P9 ��
�  	���  ,$H��  D��0	   � ����
��
� O#
� 	��� .��
� ��-� ���� , �( ,� ��
� 	��  
��-�) ����2(  ��� �� ���  5��
 4

,����0 4D�
 w�  	���$y�� 	
�� �
1$�   ���;�� 2�_� :;�9�  	�
'(4    :;��9�  ��$;�� �
,� �89
�  �� ��
�� `$���10571/0 414776/04  �17793/0  i/�0
  ,�+$� �� 4 ̀ �0�6��   ���

H0���*�+ 
 K ��� ��  �
��4/�( ��$� ��
� ��	 � �O#
� ,$H� D�0	  ����4    ���� 
 	��P9
�	�P9 �
1$� � ��
� ��- w� ��
� 
� ��0
 dP0 ��� �./0
  

 2��9) %
�&)2.( � F�+$Q P����
���0�A�� 	R(�  

�-0�� 89 0 
 ��9��  D� ��� ��9$� Q�2 89 0 
 �/�XM  &/� S�
  %��&:  

17793/0  14776/0  10571/0  RMSPE 

02866/0  01992/0  03813/0  UT  

15469/0  11754/0  18215/0  Um  

29516/0  19886/0  21051/0  Us  

5501/0  68361/0  60710/0  Uc  

1  1  1  Um+ Us+ Uc  

�6kH :,�L�� 2��@3 	��  

3 -4. C�.D� B��=E ��>
K?  

���D� 8��$<  /$0�&?�3 �� 5�
  /0
,�  5$$O�6�     	����$y�� ��$$y� I���A�� ,�� �
 ,�o�� ,�&�
� �$y�� 4,�&�
� �$y�� �� JH��� � <%�&�     ��� I
��$$y� e�_��0� ��?   .����

,� I��H� 5���  4����  �
��4/�( ,o��     2��@�3 	��$8� 	����$y�� �? ���
�� ��   ��$$y�
	���$y�� <%�&� �� �� JH��� � �� �� ���  /$0�&? ,� .�6��  B�%�� ��C6�   5��
 4���� 
	���$y�� �8%�&� ,� ,� ��] �$%�&�  ���&�
� 	���$y��K  	�E;
� 2��@3! �$)��  �� �
'( 

                                                                 

1. Standard Deviation Simulation  (SDS) 

2. Standard Deviation Actual (SDA) 
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